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EMS Geography GCSE Revision FLASH CARDS: 
Unit 1 – URBAN CHALLENGES (AQA)

	EMS Geography GCSE Revision: Question(s)
	Answer(s)

	URBAN CHALLENGES
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Describe London’s population growth since 1801.
 
	London experienced rapid growth from 1801 until 1931 from 1 million to 8.1 million.
Following the Second World War, London experienced a decline in population from 8.1 million (1951) to 6.9 million (1991).

Recently, London’s population has risen to 8.2 million (2011) and is predicted to reach 10 million by 2030.

	
	

	EMS Geography GCSE Revision: Question(s)
	Answer(s)

	URBAN CHALLENGES
Explain London’s population growth since 1801.
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	Rapid growth from 1801 to 1931 due to: rural-urban migration within south-east England in the nineteenth century during the Industrial Revolution; as well as immigration from Ireland, China and India together with a growing Jewish community from[Eastern] Europe.
Decline?:

a) experienced during World War Two due to bombing; and
b)1951 to 1991 as condemned housing was demolished and people moved beyond greater London to New Towns such as Milton Keynes and Crawley.
Recent growth due to:

Continued in-migration of young adults (esp. aged 20-30) attracted by broader range of job opportunities and higher pay (ave. salary City of London = £48,000 compared to UK ave. £27,000).

Young population = higher birth rate = higher natural increase.  




	EMS Geography GCSE Revision: Question(s)
	Answer(s)

	URBAN CHALLENGES
Describe London’s ethnic diversity 
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	Less than half are white British (45%).
The majority of the population (55%) are either of different ethnic origin (Black (13%), South Asian (12%) or Multi-racial (5%)), or other white origin, particularly from eastern Europe.
Since 2004, more migrants have come from Eastern Europe with the free movement of people in the European Union (EU).


	EMS Geography GCSE Revision: Question(s)
	Answer(s)

	URBAN CHALLENGES
Define the terms:

 Greenfield Site

 Greenbelt

 Urban Sprawl
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	a. Greenfield Site – an area of land that has never been built on before 

b. Greenbelt – the area around a settlement protected from urban development 

c. Urban sprawl – the uncontrolled growth of a settlement and the number of people living there into the surrounding urban fringe.


	EMS Geography GCSE Revision: Question(s)
	Answer(s)

	URBAN CHALLENGES
Give three advantages of building on a Greenfield Site
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	a. More pleasant environment 

b. Often cheaper land as further from city centre

c. Plenty of space available for parking and gardens/landscaping 

 


	EMS Geography GCSE Revision: Question(s)
	Answer(s)

	URBAN CHALLENGES
Give three disadvantages of building on a Greenfield Site

	a. Inevitably loss of wildlife habitats 

b. Water / electricity infrastructure will need to put in (adds to cost) 

c. May result in potentially valuable agricultural land being lost 

d. Encourage ‘urban sprawl’ 




	EMS Geography GCSE Revision: Question(s)
	Answer(s)

	URBAN CHALLENGES
 Define the terms: - 
- Brownfield Site 

- Brownfield Potential

	a. Brownfield Site – an area that has previously been built on. 

b. Brownfield Potential - number of brownfield sites available 




	EMS Geography GCSE Revision: Question(s)
	Answer(s)

	URBAN CHALLENGES
Give three advantages of building on a brownfield site


	a. planning permission easier to obtain 

b. Water/electricity infrastructure already in place 

c. Results in improvement to an area which has suffered decline. 

d. Prevents urban sprawl

	

	EMS Geography GCSE Revision: Question(s)
	Answer(s)

	URBAN CHALLENGES
Give three disadvantages of building on a brownfield site. 

	a. Previous land-use can result in costly and time consuming environmental survey to ensure area free of pollution 

b. Costs of de-contamination and demolition can be high 

c. City areas often come with problems of higher crime rates and congestion which can put prospective buy off 


	EMS Geography GCSE Revision: Question(s)
	Answer(s)

	URBAN CHALLENGES
Distinguish between the terms redevelopment and renewal

 
	Redevelopment – changing an area by investing in it, may involve large scale demolition and re-building areas. 

Renewal (also known as regeneration) – investing capital into reviving area aware – may include modernising old existing buildings as well as reviving economic and social conditions



	EMS Geography GCSE Revision: Question(s)
	Answer(s)

	URBAN CHALLENGES
Evaluate the impacts of market-led regeneration [London Docklands]


	Redevelopment of old and derelict industrial premises following closure of factories as manufacturing moved to LICs

London Docklands Redevelopment Corporation (LDDC from 1982 – a brownfield site)

Environmental: 150 hectares of open spaces; Water based Ecology par & bird sanctuary (East India Dock); 200,000 trees planted

Economic:  Canary Wharf business complex (incl finance (HSBC), TV studios & newspapers (The Guardian); over 2,700 businesses trading; City Airport at Royal dock (500,000+ passengers per year).

Social: 22,000 new homes; £100 million spent on health, education, job training; new shopping centre incl 4,600 sq metres Asda superstore

Success?: Unemployment fell from 14% to 7.4%; easy 10 mins commute to central London on Docklands Light Railway (1987); £10 million spent on council and housing association homes

Problems?: Locals unable to afford new properties; locals did not have skills for jobs created; ‘yuppie’ newcomers reduce community spirit 


	EMS Geography GCSE Revision: Question(s)
	Answer(s)

	URBAN CHALLENGES
Evaluate the impacts of partnership-led regeneration [Olympic Park]

	Queen Elizabeth Olympic Park(QEOP) in East London is seen as an example of successful regeneration and one of the main objectives of Olympic legacy. 

Success?:

Environmental change: derelict brownfield sites with old factories and contaminated soils replaced with QEOP with over 100 hectares of open space, extending Lower Lea Valley park from Hertfordshire to river Thames = largest new park in London for over 100 years.

Social change: East Village (E20) [formerly Athletes’ Village]

– 2,800 new homes, ½ private rent & ½ affordable rent on a 27 hectare site including 10 hectares of park & public space, with further 8,000 new homes by 2030.

- 35 small independent shops, cafes, bars and restaurants, a supermarket and a gym

- Close to Aquatics Centre and Velopark open to public and used by schools.

- Olympic Stadium (now London Stadium) new home of West Ham United.

- A new school [Cobham Academy] for 1,800 students aged 3 to 18.

- Close to bus routes, new local station and Stratford International Station and 24 hour tube service.

Economic Change: 
Here East [formerly Olympic Media Centre]
- hub for creative and media industries (e.g. BT Sport) with 5,000 jobs.

The International Quarter

- New commercial development of high-rise offices which will employ 25,000 people.

Problems?:

- 500 homes on Olympic Park site had to be demolished (including residents of Clays’ Lane residents’ Association).

- 250 business employing over 5,000 workers had to be relocated (e.g. H Forman).

- The cost was £9.3 billion but many believe it has brought long-term social and economic benefits.



